RHAKREXRERTIE F46RLEI=/NRYybR—ILKE #HAEHER(XF)

el e v F—L% 3H28H (1) 3H29H (A) in Ep BB
1 EEE [EY1—UX 10:30 A 14:50 C 10:35 F -
2 tiEE [FTRERRI=ZARDER EER tigE | e FRE | HRE = EEE
3 FimE | LNAEI=ARYTT v - J 3830H
4 | mFLE |[&EMBC 10:30 B 14:50 D 10:35 G - A 9:30
5 B/BHE [BIXR—YLEE FFLE w'/HE | BHE FHE | TEE = AR
6 RTHE |EHE—MBC v - J 38308
7 EHRE |FE=HEINIER 10:30 C 14:50 E 12:45 A - A 13:40
8 IREE  [FoosiE) EHE IFRE | IRRE BINE | BIE = EHE
9 AR |BEEEEIL—X v - J 3H30H
10 AR |EHI=A Ry R—)LRR—Y D EH 10:30 D 14:50 F 12:45 B - B 9:30 )
" RES |\Es=A\=RTyrR—ILH5T ilf=]-3 EER | EER KR | XHE = =]}
12 KRB |HEERIZARTINR—LEST v - J
13 ZER  |WEITARYYNR—LYST 10:30 E 14:50 G 12:45 C -
14 IWELE LRI AR YMR— L RR—Y D ER =ER [ITE-0 T BEER | E5R = ZER
15 wBEE [MRENARTINMR—ILAR—YDERH v - 3830H
16 HERE  [SLIADIZANRTYNR—ILI5T 10:30 F 17:00 A 12:45 D - G 9:30 )
17 EHE |[FHBIIVYEVFVIUX RTH RHEE | REE EHE | 5HE = R
18 BHE  |LOIZARTYNR—ILIST v - J 38308
19 EIHE  [ERIBHAIZARTYNR—ILIST 10:30 G 17:00 B 12:45 E - B 13:40
20 BRE |KEIIL—o4 TR HIFR BIRE | BRE EER | ASR = BRI
21 HEE |[BRY—XZIZNRTYrR—ILIST v - J 3830H
2 | BEE |WRES=ARTYNR—LYST 12:40 A 17:00 C 12:45 F - D 9:30
23 KBRAF |ﬁk$ns:/<x‘r‘yl~fri—n,737 BER KERRFF | KBRAF ZHRQ|ZMEQ = BES
24 | 2uee [Bios= zrurk—1s57 -
25 wBER |[FRATILA—LX 12:40 B 17:00 D 12:45 G -
26 BWE [YIREVFYXIZNARTYNR—ILIST 2 R BWR [ ELR EEINNEY BB - 1BER
27 | ARG [WHET)—X L = J 3A308
28 FEE [H254X 12:40 C 17:00 F 14:55 A - F 9:30
29 EIWE [FHFEI7ILavX FER FELE | g W | Wig = FHEE
30 IR |FLE=ARTYMR—ILRAR—Y D EH v - J 38308
31 RBER |[RBC1=7/1\R7yrR—ILoF5T 12:40 D 17:00 G 14:55 B - G 13:40
32 | BINE [SRLS=ARTYMR—ILRR—YDER RIGE FIE | FNE EFR | EFE = RIFE
33 | EFE |FREE=N\RDEH - J 3H30H
34 | ZMED [/ SyRILA—ILX 12:40 E 10:35 A 14:55 C - G 9:30| \ )
35 | ERBE [BEHRFHI=\RTyMR—ILRAR—YLER EHED ERBR|ERBR TET | TERAT = BHED)
36 REF | KBS ARTYNR—ILY5T L= J
37 HARE |[BAIZARTINR—ILYIST 12:40 F 10:35 B 14:55 D -
38 LBE [EEI=ARTYNE—ILHST HARE LER | LER FER | BER = AR
39 FIER  [WBSIZARTYNR—ILYST L= J 3A30H
40 EHE [EEAv/=—X 12:40 G 10:35 C 14:55 E - F 10:35
4 SRABIR  |FRERTHIL/MRR/NERR =EHE B | R FRRER | FRMEIE = EHE
42 BEE  [MEI= AR YMR—ILRR—Y D ER L - 3A308
43 BRE |HESZARTYRR—LYST 14:50 A 10:35 D 14:55 F - D 13:40
4 | BER |KE BHE MEE | HER HER | HER = SmE
45 BEE  |EEISoARTYNR—ILYST L =) 3A30H
46 HER |[EHLHs=/ R 14:50 B 10:35 E 14:55 G - G 10:35
47 | ZRE |RTHI=ZNARTYNR—LYIST HER =RE | RRE AR | AR = HEE
48 AR |ZRY5D v - J




